Total No. of Printed ~Pag,es—S
1SEMTDCECOG1

2016

( November )

ECONOMICS
( General )

Course :'101 .

( Microecohomic Theory )
Full Marks : 80
Pass Maiks : 32 (Backlog)/ 24 (2014 onwards)

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. oo fEl AcdRs wm Tede! AR e 1x8=8
Choose‘the correct answer of the following
questions :

(). T IO GfRere NS fSowa1 727 2

Microeconomics does not deal with
(i) e vifenl / aggregate demand
(i) FZ TeAMA / national product
(iii) >T4199 w4 B / general price level
(iv) 7R WbiRce20! / All of the above



(b)

(c)

“ifew RfE’wa sp @

‘Law of demand’ indicates

(i) 9O TS HfEF s F

more demand at the same price

(i) % TS HEF vz F9

more demand at higher jprice

(i) g wve wf4g oifzn 90

more demand at lower price

(iv) SRR OIS I
None of the above

fRCers (4 9o

An indifference curve

(i) JASFER AW CIFET R Doy e
slopes upwards from left to right

(ii)  AEFTETR *[1 G S TS
slopes downwards from left to right

(i) SRR @
is a horizontal line

(iv) TEEs @

is a vertical line



C (@) @xm ofebEe e RS 209, e

Profits for a firm are maximum, when
() MR > MC

(i) MR < MC

(i) MR = MC

(ivy MR = MC =0

(e) < PR cFae v fA~re =8

Under perfect competition, price is
determined by

() 99 SIfRNE A& A=l

force of . demand alone

(i) & TN &9 AN
force of supply alone

(i) B S @15 TeACS NS qA
both the forces of demand and
supply X

(iv) @R SBIAIZ!
All of the above



1

(9)

‘St fScfaer’ qEeh I NS CTS
TS 7

‘Monopolistic competition’ is associated
with the name of

(i) I IO
Joan Robinson

() ==
Marshall

(it) o[
Chamberlin

(iv) TR

Keynes

e o o e =, oS

When total revenue is maximum, then
() MR=0
MR-equals O
(i) AR = 0 =¥
“AR equals O
(i) MR > O
MR is greater than O

(iv) ‘S°R SGIRCFR0I
All of the above



(h) TS ST HTTOR & 90 2

The relationship between profit and
uncertainty is

(i) 9% / direct

(i) RARe«T / inverse

(iii) > / zero

(iv) @9{q 618 ¥=¥ / None of the above

2. R e wibR 59 GR ol (afed 150 >R
fTov9) : 4x4=16

Write short notes on _any’ four (within
150 words each) :

(@) JfEre SRS A7

Scope of microeconomics

(b) > A&l

Quasi-rent

(c) I Toifarel BF AfeF TAFfeR qreq ok

Relationship between total utility and
marginal utility

(d) SIS IN
Opportunity cost

(e) TOIRS &S AF TFHFEIRT A

Normal profit and supernormal profit



3. (a) INse R el B 1 oS @ AARBTS
ey A o o GfRere wlAfes
AT Temppiz 3 13 2 2+5+4=11
Give the meaning of microeconomics.
Distinguish between micro- and macro-

economics. What are the objectives of
microeconomic policy?

52<T / Or

(b) IRTS wAes Rowes R{few Sepmz 3
A1 TS e HqW|ASE  ReEerR
SRAOPTR SRR (13817 | 7+4=11

Explain different! types of micro-
economic analysis:, Also point out the
limitations of microeconomic analysis.

4. (a) P& TRFO WAl Sofver Rfs mm
' 1 | ¢ RATIRRT gFg o | 8+4=12

Diagrammatically explain the law of
equimarginal utility. Write its practical

importance.
Y11/ Or
(b) Fere QU 7 Tge Her TR S IREIENEY
AT 41 | 2+10=12

What is indifference curve? Discuss its
properties with appropriate diagram.



5. (a) ﬁmﬁWWWﬁ{m?Wm
1 5% 751 5 R 2 1% o e qEa e
oo A 90 2+2+7=11

What do you mean by equilibrium of a
firm? What are the two basic conditions
for equilibrium? Explain the
relationship between average cost and
marginal cost.

1/ Or
(b) oS MAARA 8IS (T ol : © 2+2+2+2+3=11
Write briefly on the following :

() P
Total fixed cost

(i) o “fRqSTMe H
Total variable cost
(i) a7
Money cost

(iv). 45 T
Real cost

(v) R& I

Selling cost



(@ = afecafer R2 of sfecafrod SETS T
e Felre =, R0 <4 | 2+9=11
What is perfect competition? Explain
how price is determined under perfect
competition.

&</ Or

(b) IO IR CFqo fPw JEIE©
IS STl Setq 91 2, WICET 911 11

Discuss how the short-run and
long-run equilibrium are attained under
monopoly.

(@) Rovm A4fF TeommaEen Sein eI e 4
SFAICEATBIYETE WIS 41T | 11
Critically explain the  marginal
productivity theory of distribution.

<1/ Or

(b) TS 2 AST BRI I OGO WA
0 IR OET ACIRCAN SIgfrR f |
: 1+7+3=11
What is profit? Discuss the risk-bearing
theory of profit. Point out its limitations.

% &k



